il

g
=
s
i

1. ¥¥4
B4 A0 6 AR R LIEE FE AT NV T S
JBA T fi] | LITEDE S BT N

2. EBEAR

| LIEE ST TR

1) FEF4
2) BT 247 H M H 4&f1 64 47250
= S 6FE12H27H

3) wHwyI

4) FEHBNA

S nl i E WS M ESbE VAR 3




I

BN

Tl
P

==
=]

EHA | AN 6 AR | LIEE S AT P R A

2 Tl

WEERA

HH

— A

HE - M - ]

B L

b3
i

& BH

BN

=

— A

18, 122, 521

LA

13, 625, 574

KR —1 7

10, 222, 000

TER—=V 7 (A—aTrR—V
)

KEPEL « L b, BOmEL T, $AEL T, &

66mm
TER—V 7 (A—NaTrR—1
)

b - WH L, 50mELF, ST T 7, & 66mm

TER=Y 7 (A —nar7R—=Y
N

BHR TV 10p, 50mEL T, $R1EL T 7, ¢ 66

mm
TER=Y 7 (A —nar7R—=Y
N

ERRT Y /5, 50mPL T, $hE T H, ¢

66mm
AR — ) T (A= a T AR—
)

#5, 50mEA T, $AEL T 47, ¢ 66mm
AR — ) I (A= a T R—
)

A, 50mEL T, $RiEL 5, ¢ 66mn

40 m

50 m

60 m

20 m

90 m

60 m

VLT A o RO ERR

2,511, 950

FRAEE AR

BEMEL - v b
FEAE BN R

W wEt
e AR

20 [=]

25 [=]

S nl i E WS M ESbE VAR 3



==
=]

m
2
gﬁ,

¥4 | BN 6 AR L ERE TR N HUE R A S ¥ HYE A
HH — R
THHE - THE - R BT B & 4 OB AR
30 [
BHRE LY+
REAE AR
10 B
EARLTY L0
REAE AR
35 B
L)
AL EATRER
15 B
FBGiE D)
ENTERER 2V 1 319,400 | tohiERER
10 OBk
ST
+ ok R
10 OBk
ST GRER. BkeAii)
d o> AR
10 Bk
T AT = 1 366, 224 | fENTEFA
1 =
R R E = 1 174,000 | FEERGSTERE:
1 =
TR g = 1 32,000 | faEtyss
16 ZN
AR = 1 4,496, 947
TERE v 1 1,020,810 | jEMRE
1 =
Yf #y v 1 711,080 | Y K OWRAfHT
1 =
AT FLEAZE

-2 - S nl i E WS M ESbE VAR 3



==
=]

m
2
%

R4 | AAFD 6 R L ERE ST N R A S E B FRA
H H —fxFRAE
THH - T - fER] A7 ¥ & 4 % OB AR
1 =
Wk E (R 7R
1 =X
Fte=y =X 1 2,379,000 | SR
1 =X
RE RS m e 2y 1 290,902 | fr#e (FiLE - 1581A%E)
1 =X
i T R 2y 1 95,155 | i L H#HE
1 =X
EAETA -+ A 2y 1 18, 122, 521
il =X 1 11, 467, 479
At E2V 1 11, 467, 479
— A = 1 29, 590, 000
AT A = 1 1, 566, 778
[EREE 57T = 1 1, 566, 778
TSR A = 1 1,566, 778 | EHH[YEN
1 S0
AT A
1 =
BiStii} = 1 289, 800
i = 1 289, 800
Frewss: = 1 289, 800 | TAH
1 =
EREEA (2 OMEER <) = 1 1, 856, 578

-3- S nl i E WS M ESbE VAR 3



== /oA W =
FE I PYER
¥4 | D06 AR LERE S H TS N HUE A RS E i A
H H EAEE (2 OfFEmER< )
THH - T - fER] B fr # 4 % OB ORR
Z OFA = 999, 767
— B PR =X 1, 533, 655
M SR A s =X 4, 390, 000
RS SE MR =X 33, 980, 000
-4 - ELAimd FEDTEE R



